:8 517n-88-524

(0,1,00) > (2,7,10) :nn2wi P20 wp™ M9 ApNY X¥N X .1

22 DR AW PNV IRY .2
W AR MYIAPT MR N A

23y FP'-n w» nmraup™ s mpnva ans L F =Z, Sy om0l X .2
M1 182 M1 156 :Hya i FP? »2vvpon anwnw 70 F 7w op ori .2

1(2,2),(4,1),(1,5),(1,1),(0,0) 717 n12wa R? 2 7p°1p0 NRNWH DX XX X .3
-2 1w YRR By 19anon . X2 — 4y’ + X+ 2y +3=0:R*-2 X237 0107 700 N3 .2
MOIRA W OV VW TINTT M7 X RN RP?

~wxd> PSL,(F)=SL,(F)/SZ,(F) v 2700 nx 1awn *ow a7w F My 4
(@ 1w PaIon) L avarnInT av 2x2 MMopo myun = SZ,(F)

W a,b v q 2 'P1 BLA v R ooRNnan 29 q 00 ,C vn 2 ampa Q oan L5
.Q=anb 7 .om%w o en



